Insertion of a non cooperative elliptic system involving Schrödinger operators into a cooperative one

Laure Cardoulis

Univ.Toulouse 1; pl. A. France, 31042 TOULOUSE CEDEX. email : cardouli@math.univ-tlse.fr

Abstract

We study here a non cooperative system of n equations defined on \mathbb{R}^N which we insert into a cooperative system of n+1 equations to obtain a "Maximum Principle." **Keywords**: Differential equations **AMS Classification**:75F2359

1 Introduction

We consider the following elliptic system on $I\!\!R^N$:

(1)
$$\begin{cases} \text{ for } 1 \le i \le n, \\ (1i) \quad L_{q_i} u_i := (-\Delta + q_i) u_i = \sum_{j=1}^n a_{ij} u_j + f_i \text{ in } \mathbb{R}^N \end{cases}$$

where:

(H1) for $1 \leq i, j \leq n, a_{ij} \in L^{\infty}(\mathbb{R}^N)$

(H2) for $1 \le i \le n$, q_i is a continuous potential defined on \mathbb{R}^N such that: $q_i(x) \ge 1$, $\forall x \in \mathbb{R}^N$ and $q_i(x) \to +\infty$ when $|x| \to +\infty$

(H3) for $1 \leq i \leq n, f_i \in L^2(\mathbb{R}^N)$

Our paper is organized as follow:

- first, we recall some results on M-matrices and on cooperative systems

- in section 2, we adapt a method used by D.G. de Figueiredo and E. Mitidieri (see [8]) for insertion of a non cooperative system of two equations into a cooperative system of three equations to obtain a "Maximum Principle"

-in section 3, we obtain a "Maximum Principle" for a non cooperative system of 3 equations then of n equations

Definition 1.1 ([4]) A matrix M = sI - B is called a non singular M-matrix if B is a positive matrix and $s > \rho(B) > 0$ the spectral radius of B.

Proposition 1.1 ([4] th2.3 p.134) If M is a matrix with nonpositive off-diagonal coefficients, the conditions (P0), (P1) and (P2) are equivalents where:

(P0) M is a non singular M-matrix

- (P1) all the principal minors of M are strictly positive
- (P2) M is semi-positive i.e.: $\exists X >> 0$ such that MX >> 0

X >> 0 signify $\forall i, X_i > 0$ if $X = (X_1, ..., X_n)$

Let $\mathcal{D}(\mathbb{R}^N)$ be the set of functions \mathcal{C}^{∞} on \mathbb{R}^N with compact support and q be a continuous potential in \mathbb{R}^N such that: $q \geq 1$ and $q(x) \to +\infty$ when $|x| \to +\infty$. The variational space is $V_q(\mathbb{R}^N)$: the completion of $\mathcal{D}(\mathbb{R}^N)$ for the norm $\|.\|_q$ where $\|u\|_q = [\int_{\mathbb{R}^N} |\nabla u|^2 + q|u|^2]^{\frac{1}{2}}$. $(V_q(\mathbb{R}^N), \|.\|_q)$ is an Hilbert space whose embedding into $L^2(\mathbb{R}^N)$ is dense. (see A.Abachti-Mchachti [1] prop.I.1.1)

Proposition 1.2 (see [1] p25 to 27; [2] th1.1p4,p6,8,11; [3] p3,th3.2p45; [7] p488,489) $-\Delta + q$, considered as an operator in $L^2(\mathbb{R}^N)$, is positive, selfadjoint, with compact inverse. Its spectrum is discrete and consists in an infinite sequence of positive eigenvalues tending to $+\infty$. The smallest one, denoted by $\lambda(q)$, is a principal eigenvalue, positive and simple.

For $a \in L^{\infty}(\mathbb{R}^N)$, let $a^* = \sup_{\mathbb{R}^N} a$ and $\lambda(q-a) = \inf\{\frac{\int_{\mathbb{R}^N} [|\nabla \phi|^2 + (q-a)\phi^2]}{\int_{\mathbb{R}^N} \phi^2}; \phi \in \mathcal{D}(\mathbb{R}^N); \phi \neq \prime\}.$

We say that System (1) is called cooperative if the hypothesis (H1*): $for 1 \leq i, j \leq n, a_{ij} \in L^{\infty}(\mathbb{R}^N); a_{ij} \geq 0$ a.e for $i \neq j$, is satisfied.

We say that System (1) satisfies the Maximum Principle if: $\forall f_i \geq 0, 1 \leq i \leq n$, each solution $u = (u_1, ..., u_n)$ of (1) is nonnegative.

For any matrix $A = (a_{ij})$ with bounded coefficients, let: $A^* = (a_{ij}^*)$ and let $E = (e_{ij})$ be the matrix $n \times n$ defined by: $\forall 1 \leq i \leq n, \ e_{ii} = \lambda(q_i - a_{ii})$ and $\forall 1 \leq i, j \leq n, \ i \neq j \Rightarrow e_{ij} = -a_{ij}^*$. Let $F = (f_{ij})$ the matrix $n \times n$ be defined by: $\forall 1 \leq i \leq n, \ f_{ii} = \lambda(q_i - a_{ii})$ and $\forall 1 \leq i, j \leq n, \ i \neq j \Rightarrow f_{ij} = - |a_{ij}|^*$.

Recall the following theorems.

Theorem 1.1 (see [5] Th 4.2.2) Assume that (H1*), (H2), (H3) are satisfied. If E is a non singular M-matrix, then System (1) satisfies the Maximum Principle.

Theorem 1.2 (see [6] Th 3.1) Assume that (H1), (H2), (H3) are satisfied. If F is a non singular M-matrix, then System (1) has a solution.

2 Insertion of a non cooperative system of two equations into a cooperative system of three equations

We redefine System (1) for n=2 by

(1')
$$\begin{cases} (-\Delta + q_1)u = au + bv + f \text{ in } \mathbb{R}^N\\ (-\Delta + q_2)v = cu + dv + g \text{ in } \mathbb{R}^N \end{cases}$$

where (H1) becomes $a, b, c, d \in L^{\infty}(\mathbb{R}^N)$. We follow here a method used in [8].

Theorem 2.1 (see [5] Th 5.2.1) Consider System (1') where a, b, c, d are reals and $q_1 = q_2 = q, b < 0, c > 0, a > d, (a - d)^2 + 4bc \ge 0$. Assume (H2) and (H3) satisfied. Let: $\delta = (a - d)^2 + 4bc, r = \frac{-2bc}{a - d + \sqrt{\delta}}, s = \frac{a + d - \sqrt{\delta}}{2}, \gamma = -\frac{b}{r}$. If $\lambda(q) > a - r, \lambda(q) > d, \lambda(q) > s,$ then: $f \ge 0, g \ge 0, f - \gamma g \ge 0 \Rightarrow u \ge 0, v \ge 0$.

Proof of Theorem 2.1:

Let $w = u - \gamma v$, where (u, v) is a solution of (1'). Then (u, v, w) is a solution of the following cooperative system (2):

$$(2) \begin{cases} (-\Delta + q)u = (a - r)u + (b + r\gamma)v + rw + f \text{ in } \mathbb{R}^{N} \\ (-\Delta + q)v = cu + dv + g \text{ in } \mathbb{R}^{N} \\ (-\Delta + q)w = (a - c\gamma - s)u + (b - d\gamma + s\gamma)v + sw + f - \gamma g \text{ in } \mathbb{R}^{N} \end{cases}$$

Let:

$$B = \left(\begin{array}{ccc} \lambda(q) - a + r & 0 & -r \\ -c & \lambda(q) - d & 0 \\ 0 & 0 & \lambda(q) - s \end{array}\right)$$

Since B is a non singular M-matrix, System (2) satisfies the Maximum Principle. So: $f \ge 0, g \ge 0, f - \gamma g \ge 0 \Rightarrow u \ge 0, v \ge 0, w \ge 0$.

Theorem 2.2 Consider System (1'). Assume that (H1), (H2), (H3) are satisfied. Let (u, v) solution of (1'). Let:

- (H4) b < 0; c > 0
- (H5) $q_2 = q_1 + k$ with $k \in L^{\infty}(\mathbb{R}^N) \cap C(\mathbb{R}^N)$.
- (H6) $a+k-d>0; \delta = (a+k-d)^2 + 4bc > 0$

(H7)
$$m = \sup_{\mathbb{R}^N} \left(\frac{-a-k+d-\sqrt{\delta}}{2c} \right) \le M = \inf_{\mathbb{R}^N} \left(\frac{-a-k+d+\sqrt{\delta}}{2c} \right).$$

Let $\alpha \in]m, M[(\alpha = m \text{ if } m = M).$ Note that $\alpha < 0$.

(H8)
$$\lambda(q_1 - a) > 0; \ \lambda(q_2 - d) > 0; \ \lambda(q_1 - a)\lambda(q_2 - d) > (-b)^*c^* > 0$$

(H9) $\lambda(q_1 - a) > (a + k - d)^* > 0$

Assume that Hypothesis (H4) to (H9) are satisfied. Then: $(f \ge 0, g \ge 0, f + \alpha g \ge 0 \Rightarrow u \ge 0, v \ge 0.)$

Proof of Theorem 2.2: Denote $k_1 = -\frac{1}{2}q_1 + \frac{1}{2}q_2$, $r = \frac{b}{\alpha} \in L^{\infty}(\mathbb{R}^N)$ and $s = a + \alpha c + k_1 \in L^{\infty}(\mathbb{R}^N)$. Let $w = u + \alpha v$ and $q_3 = \frac{1}{2}q_1 + \frac{1}{2}q_2$. We have:

(2)
$$\begin{cases} (-\Delta + q_1)u = (a - r)u + (b - \alpha r)v + rw + f \text{ in } \mathbb{R}^N \\ (-\Delta + q_2)v = cu + dv + g \text{ in } \mathbb{R}^N \\ (-\Delta + q_3)w = (a + \alpha c - s + k_1)u + (b + \alpha d - s\alpha + \alpha(k_1 - k))u \\ + sw + f + \alpha g \text{ in } \mathbb{R}^N \end{cases}$$

By (H4) and (H6) we show that System (2) is cooperative. Let:

$$L = \begin{pmatrix} \lambda(q_1 - a + r) & 0 & -r^* \\ -c^* & \lambda(q_2 - d) & 0 \\ 0 & -[b + \alpha d - s\alpha + \alpha(k_1 - k)]^* & \lambda(q_3 - s) \end{pmatrix}$$

We use (H8) and (H9) to prove that L is a non singular M-matrix. Applying Theorem 1.1, we deduce that: $(f \ge 0, g \ge 0, f + \alpha g \ge 0 \Rightarrow u \ge 0, v \ge 0.)$

3 Insertion of a non cooperative system of n equations into a cooperative system of n + 1 equations

First consider in this section the non cooperative System (1) for n = 3 and $q = q_1 = q_2 = q_3$. We study two cases: first, we study a particular case when one off-diagonal coefficient is equal to 0, another one is negative and all the others are positive; then we study another case when all the off-diagonal coefficients are constants not equal to 0.

Theorem 3.1 Let:

- (H10) $a_{21} = 0; a_{12} \in \mathbb{R}^{*-}; a_{13} \in \mathbb{R}^{*+}.$
- **(H11)** $\forall (i, j) \notin \{(1, 2); (2, 1); (1, 3)\}, a_{ij} \in L^{\infty}(\mathbb{R}^N); a_{31} \neq 0 \text{ and} \\ \forall (i, j) \notin \{(1, 2); (2, 1); (1, 3)\} i \neq j \Rightarrow a_{ij} \geq 0$
- (H12) $\frac{a_{13}a_{32}+a_{22}a_{12}}{a_{12}} = \frac{a_{13}a_{33}+a_{23}a_{12}}{a_{13}} = \gamma \in L^{\infty}(\mathbb{R}^N)$
- (H13) $\exists r \in I\!\!R^{*+}, a_{11} > \gamma + r = s \in L^{\infty}(I\!\!R^N)$

(H14) F a non singular M-matrix (see section 1 for the definition of F)

(H15) $(\lambda(q-a_{11}))^2 > r(a_{11}-s)^* + (a_{13}a_{31})^*$

Assume that the hypothesis (H2), (H3) and (H10) to (H15) are satisfied. Then: $(f_1 \ge 0, f_2 \ge 0, f_3 \ge 0, f_1 + \frac{a_{12}}{r}f_2 + \frac{a_{13}}{r}f_3 \ge 0 \Rightarrow u_1 \ge 0, u_2 \ge 0, u_3 \ge 0.)$

Proof of Theorem 3.1:

- a) Remark: The existence of a solution for System (1) is due to the hypothesis (H2), (H3) and (H14).
- **b)** Let $u_4 = u_1 + \frac{a_{12}}{r}u_2 + \frac{a_{13}}{r}u_3$. By (H12) and since $s = r + \gamma$, (u_1, u_2, u_3, u_4) is solution of the following System (2).

$$(2) \begin{cases} (-\Delta + q)u_1 = (a_{11} - r)u_1 + ru_4 + f_1 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_2 = a_{22}u_2 + a_{23}u_3 + f_2 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_3 = a_{31}u_1 + a_{32}u_2 + a_{33}u_3 + f_3 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_4 = \frac{(a_{11} - s)r + a_{13}a_{31}}{r}u_1 + su_4 + f_1 + \frac{a_{12}}{r}f_2 + \frac{a_{13}}{r}f_3 \text{ in } \mathbb{R}^N \end{cases}$$

c) We show by (H10) and (H13) that System (2) is cooperative.

d) Let

$$D = \begin{pmatrix} \lambda(q - a_{11} + r) & 0 & 0 & -r \\ 0 & \lambda(q - a_{22}) & -a_{23}^* & 0 \\ -a_{31}^* & -a_{32}^* & \lambda(q - a_{33}) & 0 \\ -(\frac{(a_{11} - s)r + a_{13}a_{31}}{r})^* & 0 & 0 & \lambda(q - s) \end{pmatrix}$$

We verify that D is a non singular M-matrix.Indeed, by (H14) and (H15), we prove that all the principal minors of D are positive.

Hence System (2) satisfies the Maximum Principle and:

$$f_1 \ge 0, \ f_2 \ge 0, \ f_3 \ge 0, \ f_1 + \frac{a_{12}}{r} f_2 + \frac{a_{13}}{r} f_3 \ge 0 \Rightarrow u_1 \ge 0, \ u_2 \ge 0, \ u_3 \ge 0.$$

Remark: If $a_{12} = -a_{13} \in \mathbb{R}^{*-}$, then (H12) becomes $a_{22} - a_{32} = a_{33} - a_{23}$.

Theorem 3.2 Let:

(H16) $\forall i \neq j, a_{ij} \in \mathbb{R}^* \text{ and } \exists i_0 \neq j_0, a_{i_0j_0} > 0.$

(H17) $a_{13}a_{23} > 0$, $a_{21}a_{31} > 0$, $a_{12}a_{32} > 0$. If $i \neq j$ and $a_{ij} > 0$, let $s_{ij} < 0$ such that $a_{ij} + s_{ij} > 0$. If $i \neq j$ and $a_{ij} < 0$, let $s_{ij} > 0$ such that $a_{ij} + s_{ij} > 0$.

 $(\mathbf{H18}) \ s_{12}s_{31}s_{23} = s_{21}s_{13}s_{32}.$

By (H17) and (H18) we can choose $a_{14} > 0, a_{24} > 0, a_{34} > 0$ and $\alpha_1, \alpha_2, \alpha_3$ reals such that: $s_{21} + a_{24}\alpha_1 = s_{31} + a_{34}\alpha_1 = s_{12} + a_{14}\alpha_2 = s_{32} + a_{34}\alpha_2 = s_{13} + a_{14}\alpha_3 = s_{23} + a_{24}\alpha_3 = 0$. Let:

(H19) $a_{11} = -\frac{\alpha_2 a_{21} + \alpha_3 a_{31}}{\alpha_1}, \quad a_{22} = -\frac{\alpha_1 a_{12} + \alpha_3 a_{32}}{\alpha_2}, \quad a_{33} = -\frac{\alpha_1 a_{13} + \alpha_2 a_{23}}{\alpha_3}.$

(H20)

$$M = \begin{pmatrix} \lambda(q - a_{11} + a_{14}\alpha_1) & -(a_{12} + s_{12}) & -(a_{13} + s_{13}) \\ -(a_{21} + s_{21}) & \lambda(q - a_{22} + a_{24}\alpha_2) & -(a_{23} + s_{23}) \\ -(a_{31} + s_{31}) & -(a_{32} + s_{32}) & \lambda(q - a_{33} + a_{34}\alpha_3) \end{pmatrix}$$

a non singular M-matrix.

(H21) F a non singular M-matrix.

Assume that the hypothesis (H2), (H3) and (H16) to (H21) are satisfied. Then: $(f_1 \ge 0, f_2 \ge 0, f_3 \ge 0, \alpha_1 f_1 + \alpha_2 f_2 + \alpha_3 f_3 \ge 0 \Rightarrow u_1 \ge 0, u_2 \ge 0, u_3 \ge 0.)$

Proof of Theorem 3.2:

- a) Remarks: The existence of a solution for System (1) is due to the hypothesis (H2), (H3) and (H21). Note that: $\forall i, \alpha_i$ has the same sign than $a_{ji} \forall j \neq i$. By (H16), there exists at least one $\alpha_i > 0$.
- **b)** Let $u_4 = \alpha_1 u_1 + \alpha_2 u_2 + \alpha_3 u_3$. By (H19), (u_1, u_2, u_3, u_4) is solution of the following cooperative System (S).

$$(S) \begin{cases} (-\Delta + q + \alpha_1 a_{14})u_1 = a_{11}u_1 + (a_{12} + s_{12})u_2 + (a_{13} + s_{13})u_3 + a_{14}u_4 + f_1 \text{ in } \mathbb{R}^N \\ (-\Delta + q + \alpha_2 a_{24})u_2 = (a_{21} + s_{21})u_1 + a_{22}u_2 + (a_{23} + s_{23})u_3 + a_{24}u_4 + f_2 \text{ in } \mathbb{R}^N \\ (-\Delta + q + \alpha_3 a_{34})u_3 = (a_{31} + s_{31})u_1 + (a_{32} + s_{32})u_2 + a_{33}u_3 + a_{34}u_4 + f_3 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_4 = \alpha_1 f_1 + \alpha_2 f_2 + \alpha_3 f_3 \text{ in } \mathbb{R}^N \end{cases}$$

c) Let

$$O = \begin{pmatrix} \lambda(q - a_{11} + a_{14}\alpha_1) & -(a_{12} + s_{12}) & -(a_{13} + s_{13}) & -a_{14} \\ -(a_{21} + s_{21}) & \lambda(q - a_{22} + a_{24}\alpha_2) & -(a_{23} + s_{23}) & -a_{24} \\ -(a_{31} + s_{31}) & -(a_{32} + s_{32}) & \lambda(q - a_{33} + a_{34}\alpha_3) & -a_{34} \\ 0 & 0 & 0 & \lambda(q) \end{pmatrix}$$

By (H20), O is a non singular M-matrix.

Hence System (S) satisfies the Maximum Principle and:

 $f_1 \ge 0, \ f_2 \ge 0, \ f_3 \ge 0, \ \alpha_1 f_1 + \alpha_2 f_2 + \alpha_3 f_3 \ge 0 \Rightarrow u_1 \ge 0, \ u_2 \ge 0, \ u_3 \ge 0.$

We give some examples.

Example 1 Let

(1)
$$\begin{cases} (-\Delta + q)u_1 = \frac{1}{2}u_1 - u_2 + 2u_3 + f_1 \text{ in } \mathbb{I} \mathbb{R}^N \\ (-\Delta + q)u_2 = -u_1 + \frac{1}{2}u_2 + 2u_3 + f_2 \text{ in } \mathbb{I} \mathbb{R}^N \\ (-\Delta + q)u_3 = -u_1 - u_2 + 8u_3 + f_3 \text{ in } \mathbb{I} \mathbb{R}^N \end{cases}$$

We can choose $s_{13} = s_{23} = -1$, $s_{21} = s_{31} = s_{12} = s_{32} = 2$, $a_{14} = a_{24} = a_{34} = 1$, $\alpha_1 = \alpha_2 = -2$, $\alpha_3 = 1$.

Example 2 Let $a \in \mathbb{R}^{*+}$ and

(1)
$$\begin{cases} (-\Delta + q)u_1 = -au_2 + au_3 + f_1 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_2 = -au_1 + au_3 + f_2 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_3 = -au_1 - au_2 + 2au_3 + f_3 \text{ in } \mathbb{R}^N \end{cases}$$

We can choose $s_{13} = s_{23} = -s_{21} = -s_{31} = -s_{12} = -s_{32} \in \mathbb{R}^{*-}$, $a_{14} = a_{24} = a_{34} \in \mathbb{R}^{*+}$, $\alpha_1 = \alpha_2 = -\alpha_3 \in \mathbb{R}^{*-}$.

Example 3 Let α, β, γ reals, $a \in \mathbb{R}^{*+}$, $b \in \mathbb{R}^{*-}$, $c \in \mathbb{R}^{*-}$ and

(1)
$$\begin{cases} (-\Delta + q)u_1 = \alpha u_1 + cu_2 + au_3 + f_1 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_2 = bu_1 + \beta u_2 + au_3 + f_2 \text{ in } \mathbb{R}^N \\ (-\Delta + q)u_3 = bu_1 + cu_2 + \gamma u_3 + f_3 \text{ in } \mathbb{R}^N \end{cases}$$

We can choose $s_{13} = s_{23} = s \in \mathbb{R}^{*-}$, $s_{21} = s_{31} = s' \in \mathbb{R}^{*+}$, $s_{12} = s_{32} = s'' \in \mathbb{R}^{*+}$. Then : $\exists \alpha_1 \in \mathbb{R}^{*-}$, $\exists \alpha_2 \in \mathbb{R}^{*-}$, $\exists \alpha_3 \in \mathbb{R}^{*+}$ such that: $\frac{s'}{\alpha_1} = \frac{s''}{\alpha_2} = \frac{s}{\alpha_3}$. (H19) becomes: $\alpha = -b\frac{\alpha_3+\alpha_2}{\alpha_1}$, $\beta = -c\frac{\alpha_3+\alpha_1}{\alpha_2}$, $\gamma = -a\frac{\alpha_2+\alpha_1}{\alpha_3}$.

We conclude by giving a generalization for a system of n equations.

Theorem 3.3 Let: $\forall i, q_i = q$ and

(H22) $\forall i, j, a_{ij} \in I\!\!R \text{ and } \exists j_0, \forall i, i \neq j_0 \Rightarrow a_{ij_0} > 0$ Let $\forall j, \alpha_j = \min_i(a_{ij}).$

(H23) $\forall j, \ \alpha_j(a_{jj}-1) \geq -\sum_{i=1, i\neq j}^n \alpha_i a_{ij}$

(H24) $\forall i, \ \lambda(q) > 1 + \sum_{j=1}^{n} (a_{ij} - \alpha_j) \text{ and } \lambda(q) > \sum_{j=1}^{n} (\sum_{i=1}^{n} \alpha_i a_{ij} - \alpha_j) + 1$

Assume that the hypothesis (H2), (H3) and (H22) to (H24) are satisfied. Then: $\forall i, f_i \geq 0 \text{ and } \sum_i \alpha_i f_i \geq 0 \Rightarrow \forall i, u_i \geq 0.$

Proof of Theorem 3.3: Let $u_{n+1} = \sum_{i=1}^{n} \alpha_i u_i$. We have: $\forall i = 1, ..., n, (-\Delta + q)u_i = \sum_{j=1}^{n} (a_{ij} - \alpha_j)u_j + u_{n+1} + f_i \text{ and } (-\Delta + q)u_{n+1} = \sum_{j=1}^{n} (\sum_{i=1}^{n} \alpha_i a_{ij} - \alpha_j)u_j + u_{n+1} + \sum_i \alpha_i f_i$. Let *B* be the matrix associated to the above system and ${}^tX = (1, ...1)$. We have BX >> 0 so *B* is a non singular M-matrix. Applying Theorem 1.1, we obtain the result of the Theorem 3.3.

References

- A. Abakhti-Mchachti.Systèmes semilinéaires d'équations de Schrödinger. Thèse numéro 1338, Université Toulouse 3, 1993.
- [2] Shmuel Agmon.Bounds on Exponential Decay of Eigenfunctions of Schrödinger Operators. Schrödinger Operators Como 1984. Springer-Verlag.
- [3] Shmuel Agmon. Lectures on exponential decay of solutions of second-order elliptic equations: Bounds on eigenfunctions of N-body Schrödinger operators. Mathematical Notes. Princeton University Press. 1983.
- [4] A. Bermann and R.J. Plemmons. Nonnegative Matrices in the Mathematical Sciences. Academic Press, New York, 1979.
- [5] L. Cardoulis.Problèmes elliptiques : applications de la théorie spectrale et études de systèmes, existences de solutions. Thèse, Université de Toulouse I, 1997.
- [6] L. Cardoulis.Existence of solutions for non necessarily cooperative systems involving Schrödinger operators. To appear in International Journal of Mathematics and Mathematical Sciences, University of Central Florida, 1999.
- [7] D.E. Edmunds and W.D. Evans. Spectral Theory and Differential Operators. Oxford Science Publications, 1987.
- [8] D.G. de Figueiredo and E. Mitidieri.Maximum principle for linear elliptic systems. Quaterno Matematico 177, Dip.Sc. Mat., Univ. Trieste, 1988.